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o=t 1,120 126 994
= 2,613 294 2,319
F2I |2 EMHMFX 180,931 179,931 1,000
o= 6,500 6,500 0
= 174,431 173,431 1,000
Olbl=2 S4XI& 2t 102,419 101,419 1,000
o= 6,500 6,500 0
= 95,919 94,919 1,000
403 XIS SAH=01& 99,419 98,419 1,000
o= 6,500 6,500 0
= 92,919 91,919 1,000
03 OlBIZSdX# =22 X 99,419 98,419 1,000
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o= 1,79 2,157 A358
= 178,214 178,572 A358
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z 335,400 329,400 6,000
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(BMDS T2 2 225,000,002 225,000 225,000 0
08I DS 2,800, 00024334 92,400 9,400 0
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21,000,000 21,000 0 21,000
= 21,000 0 21,000
2 BZ2YH| 2,000 0 2,000
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03 #AI2H 16,000 12,000 4,000
OBMSISTAl 8A 2 16,000 12,000 4,000
020l DA 2,000,00024+43] 8,000 8,000 0
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NETIESNEBIET 516,000 710,000 194,000
= 256,000 450,000 194,000
2 260,000 260,000 0
MOIXHA ME I AR 516,000 710,000 194,000
= 256,000 450,000 194,000
2 260,000 260,000 0
307 BI2H0IH 516,000 710,000 194,000
= 256,000 450,000 194,000
2 260,000 260,000 0
11 A=A 2T 516,000 710,000 194,000
ORSXY HIRA 256,000,002 256,000 450,000 194,000
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Ooz=H 1,300, 000&*130CH 169,000 117,000 52,000
O=ZelH 500,000&+50CH 25,000 20,000 5,000
EH0IXI=2Z 180,620 189,020 28,400
201 LBH2AL| 180,620 189,020 28,400
02 3523l 157,620 166,020 28,400
OAlEEHIsXId| 150,420 158,820 28,400
o=2Liet AEelXl 0& 0 8,400 28,400
d=23sl0ts g4st 36,000 16,000 20,000
o= 3,000 3,000 0
= 33,000 13,000 20,000
307 2I2t0& 28,000 8,000 20,000
o= 3,000 3,000 0
= 25,000 5,000 20,000
04 QIZIHAIAIEE X 20,000 0 20,000
O&EL30ts sENESEHM @A 20,000,000 20,000 0 20,000
AQOIE AIEI =4 2,395,989 1,844,189 551,800
£ 154,000 0 154,000
< 124,032 124,032 0
= 2,117,957 1,720,157 397,800
Xerd 721,076 523,276 197,800
401 AlEHIZ2OHB| 721,076 523,276 197,800
01 Al&Hl 717,800 520,000 197,800
OSEMDISEI| 2HILE HAHSA
1,200,000& * 34942 40,800 0 40,800
OOt=g8E CCTV It EXIBAt
8,000,000& * 1442 112,000 0 112,000
OXt&E CCTV dsie SAt
9,000,000& * 544 45,000 0 45,000
AOLE AIEI =4 600,000 400,000 200,000
401 AlEHIZ2OHB| 200,000 0 200,000
01 Al&Hl 200,000 0 200,000
OZ2Y S& 3t SLIHYAIAE 1=
4.,000,000& %5070 2 200,000 0 200,000
MLtord ESE XA 154,000 0 154,000
£ 154,000 0 154,000
401 AIEHIZ 2B 154,000 0 154,000
£ 154,000 0 154,000
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= 340,000 340,000 0
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=232 22| 378,280 378,280 0
= 340,000 340,000 0
2 38,280 38,280 0
AHEUARIED DR Bl 340,000 340,000 0
2 340,000 340,000 0
101 @121l 109,020 108,945 75
2 109,020 108,945 75
SIEIEEDV=T-ES 109,020 108,945 75
S Ey EEVINEEE 5,975 5,900 75
0ALRER 99,439, 1002443, 12% 3,103 3,043 60
= 3,103 3,043 60
O QUTE2 3,102,00024+3.6% 15 100 15
2 115 100 15
201 YBt2| 20,250 20,855 2605
2 20,250 20,855 A605
01 AR a2l 16,890 17,4% 2605
o8| 16,890 17,49 A605
0E2ZH WEH, MM 7
163, 10024+1124 1,79 2,400 £605
2 1,79 2,400 2605
206 THE | 10,460 17,000 £6,540
2 10,460 17,000 £6,540
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OXZ+ BHSLHYE L MEH 7L
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= 900 3,600 £2,700
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2 1,600 4,000 £2,400
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2 29,870 125,000 4,870
01 A&l 29,870 125,000 4,870
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= 68,000 85,000 A17,000
0X2ZH 2U3 ZHTAL 21,000,008 21,000 20,000 1,000
= 21,000 20,000 1,000
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4,982,807 4,475,800 507,007
GlHIH( SR 2A0IHESE 3 H) 2,902,807 2,395,800 507,007
HIIESE3IH) 2,902,807 2,395,800 507,007
2,902,807 2,395,800 507,007
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